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SCHOOL OF ENGINEERING
END TERM EXAMINATION - JUN 2023

Semester : Semester Il/IV - 2022 Date : 10-JUN-2023
Course Code : KAN2001 Time : 1.00PM - 3.00PM
Course Name : Sem Il/IV - KAN2001 - Thili Kannada Max Marks : 100
Program : ALL SCHOOLS Weightage : 50%

Instructions:

(i) Read all questions carefully and answer accordingly.

(i) Question paper consists of 3 parts.

(i) Scientific and non-programmable calculator are permitted.

(iv) Do not write any information on the question paper other than Roll Number.

PART A
ANSWER ALL THE QUESTIONS (10 X2 =20M)

1. 598 FOAT, ACOWIN e3PVRT PR FOR O3Ie)TID?
(CO1) [Knowledge]

2. 03590 2D BN )0 B, 3V ToRBE), 38 oN3PBNTF)?
(CO3) [Knowledge]

3. M) BT 9T 3P A.
(CO3) [Knowledge]

4. 233,53590 B3N 03500 DTV NS BT WOT3I?

(CO3) [Knowledge]
5. ©90)e0R)23TT I 9033 O350 T0?

(CO4) [Knowledge]
6. 33503 Dee3 BWRTY TBEF e 033030 O3 XDTT 2D BT LOTTI?

(CO3) [Knowledge]
7. 9033032308233 &)TT 0303 235000, ?

(CO4) [Knowledge]
8. My B30 BRTES?

(CO2) [Knowledge]
9. BVOBWID WRET, 2w, DA WO TP 2300TIY,T3.3?

(CO1) [Knowledge]



10.

1.

12.

13.

14.

oW, 33,301 B3, F30HR, WBBHTT0>?

PART B
ANSWER ALL THE QUESTIONS

FINS 0HoP)TRD) 2 B3, NP1 F0d B 90N 03 DA.

(CO1) [Knowledge]

(5 X 10 = 50M)

2x5=10

a. B3R DT 3Te3B) O00ed BATE DT WD) AT BONTY, 23908 TROTBT)

OB, A0 T edoN 3P A.

b. BONE) 3CDTT N ON 338, IS,DTEN 23900 FTRTWIeS FoTLIe3), IPA.
C. BORECDTIT &jTOT 23/0ed) IO D DT, SNt TRE3 0P ? 3P A.

B3 won FerorneDR:
NCIANEN SN

QRIS BB L33,
S F63,5300
€923,530, 80e3,50

(ANAEEIS AT

FTFNS O0e) DT 20T BWLI5TS 0053 WTAND:
9230 SSCETe,

ESINDRN RO IO TNV

BRE3L0D 300250 9T,

T,Y BI3XY

230N AT,

ARIARSNEAEI TN

BRTY WL,N

BRBINRCDE,B STHTY

TP

BRI, 2300N0N0T

TR, 200N,

3B, 23000N0N0T

30€9), 230NN,

2N, 200N 0N0T
EAOMEADIOWS WS

ENITE 2DI0TIED e3FONE 23000 ToToe
M3

T Tyd BOWON(O0e) TIOR3 9T, 390 3)):
FPWO3E, TSR eNT/OTES, BOREICD

(CO3) [Comprehension]

(1x10=10)
(CO4) [Comprehension]
(1x10M=10M)
(CO4) [Comprehension]
2Qx5=10

(CO1,C03,C04) [Comprehension]



15.

16.

TPNS DT DWODINPT 353,68 22TOND: (2Qx5=10Mr)
233, 000, BITY), N0W e,
(C0O3,CO1) [Comprehension]

PART C
ANSWER THE FOLLOWING QUESTION (1 X 30 = 30M)
FYNT 0359)TOTTd VR &), NPR dZToN 3 DA 2Qx15Mr=30Mr

a. B33,e3000 03, BT XDTT 0P 230033 &30S BRBY 3Be3 ROTIZIE 33, eJa3DA.
b. e33O 207, 90802303 ST e3503IE), IV
C. TeNEDy, LR NIV, Fe)IOD ARTIOTTTY, e, a30033¢). 203AND.
(C0O3,C0O1) [Application]



